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Question Id : 68634038587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people is the authentic life. not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhiji ran the books they wrote. sold little. but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message, to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private, nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers, even one who is merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here is the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak: I
believe that an editor who has anything worth saying and who commands a clientele cannot be easily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lolananya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His influence was multiplied
thousandfold by his imprisonment and his speech, and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise lus life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that. Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfilment of his ambition in their lives.”

Sub questions

Question Number : 1 Question Id : 68634038588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari.

What 1s the meaning of ‘eloquently’ in the above sentence?

1. announce solemnly

B

. Convert in the intelligible language

L¥w)

. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340152401. 1
686340152402. 2
686340152403. 3
686340152404. 4

Question Number : 2 Question Id : 68634038589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the result of Lokmanya Tilak’s exemplary life ?

1. People resolved to fulfil his life’s dreams

d

2. The newspapers edited by him did not incur money loss
3. The books written by him were useful

4. Critics still find fault with his views

Options :

686340152405. 1
686340152406. 2
686340152407. 3
686340152408. 4

Question Number : 3 Question Id : 68634038590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 15
true?

1. Their influence on people was negligible

| )

. Very few people used to read the newspapers edited by them

LF¥]

. They were moral in private life but lax in public life
4. They were allowed to edit their newspapers even from inside the jail

Options :

686340152409. 1
686340152410. 2
686340152411. 3
686340152412. 4

Question Number : 4 Question Id : 68634038591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of critics, according to the passage?

1. To find fault with one or the other expression of a writer

| S]

. To price only those writers whom they like

3. To suggest new ideas to the public

i

. To justify their criticism

Options :
686340152413. 1
686340152414.2



686340152415. 3
686340152416. 4

Question Number : 5 Question Id : 68634038592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya Tilak’s messages were most effective:

1. when he delivered through his editorials

-2

. betore his imprisonment
3. when he became an informer
4, when he delivered speeches

Options :

686340152417. 1
686340152418. 2
686340152419. 3
686340152420. 4

Question Id : 68634038587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people is the authentic life. not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhiji ran the books they wrote. sold little. but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message, to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private, nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers. even one who 1s merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here is the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak; *1
believe that an editor who has anything worth saying and who commands a clientele cannot be casily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lolimanya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His mfluence was multiplied
thousandfold by his imprisonment and his speech. and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise his life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that, Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfiliment of his ambition in their lives.”

Sub questions



Question Number : 1 Question Id : 68634038588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari.

What iz the meaning of ‘eloquently’ in the above sentence?

1. announce solemnly

| B

. Convert in the intelligible language

Tad

. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340152401. 1
686340152402. 2
686340152403. 3
686340152404. 4

Question Number : 2 Question Id : 68634038589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the result of Lokmanya Tilak’s exemplary life ?

1. People resolved to fulfil his life’s dreams

J

. The newspapers edited by him did not ineur money loss
3. The books written by him were useful

4. Critics still find fault with his views

Options :

686340152405. 1
686340152406. 2
686340152407. 3
686340152408. 4

Question Number : 3 Question Id : 68634038590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi is
true?

1. Their influence on people was negligible

[ ]

. Very few people used to read the newspapers edited by them

Lad

. They were moral in private life but lax in public life
4. They were allowed to edit their newspapers even from inside the jail

Options :

686340152409. 1
686340152410. 2
686340152411. 3
686340152412. 4

Question Number : 4 Question Id : 68634038591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of crities. according to the passage?

1. To find fault with one or the other expression of a writer

J

. To price only those writers whom they like
3. To suggest new ideas to the public
4. To justify their criticism

Options :

686340152413. 1

686340152414. 2

686340152415. 3
686340152416. 4

Question Number : 5 Question Id : 68634038592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya Tilak’s messages were most effective:

1. when he delivered through his editorials

b2

. before his imprisonment

LFN]

. when he became an mformer
4. when he delivered speeches

Options :
686340152417. 1



686340152418. 2
686340152419. 3
686340152420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401268
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634038593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein is produced skin milk by coagulation rennet. Soluble calcium ions are
required this reaction. Sufficient quantities calcium 1s already present in milk.

1. from. with. for, of
2. from. with. of. for

. from. in. with. for

L]

4. from. of. for, with

Options :

686340152421. 1
686340152422. 2
686340152423. 3
686340152424. 4

Question Number : 6 Question Id : 68634038593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein is produced skin milk by coagulation rennet. Soluble calcium ions are
required this reaction. Sufficient quantities calelum 1s already present in milk.

1. from. with. for, of

o

2. from. with. of. for

. from. in. with. for

[F¥]

4. from. of. for, with

Options :

686340152421. 1
686340152422. 2
686340152423. 3
686340152424. 4



Question Number : 7 Question Id : 68634038594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Plagiarize 1. |Disrespectful
B. |[Dubious 1L |Gift
C. [Contemptoous | I [Uncertain
D. [Hamper IV |Copy

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1, D-IIT

[

. A-IIL B-I, C-IV, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-1. B-II1, C-IV, D-11

Options :

686340152425. 1
686340152426. 2
686340152427. 3
686340152428. 4

Question Number : 7 Question Id : 68634038594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Plagiarize 1. |Disrespectful
B. |[Dubious 1L |Gift
C. [Contemptoous | I [Uncertain
D. [Hamper IV |Copy

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1, D-IIT

[

. A-IIL B-I, C-IV, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-1. B-II1, C-IV, D-11

Options :

686340152425. 1
686340152426. 2
686340152427. 3
686340152428. 4



Question Number : 8 Question Id : 68634038595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.

1. The team is confident to win the match

-~

2. The team is confident of winning the match
3. The team 1s confident of win the match
4. The team is confident for winning the match

Options :

686340152429. 1
686340152430. 2
686340152431. 3
686340152432. 4

Question Number : 8 Question Id : 68634038595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.

1. The team is confident to win the match

-~

2. The team is confident of winning the match
3. The team 1s confident of win the match
4. The team is confident for winning the match

Options :

686340152429. 1
686340152430. 2
686340152431. 3
686340152432. 4

Question Number : 9 Question Id : 68634038596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all time

1. highest

- |

2. high
3. lowest
4. cost

Options :

686340152433. 1
686340152434.2
686340152435. 3
686340152436. 4

Question Number : 9 Question Id : 68634038596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all time

1. highest

-}

2. high
3. lowest
4. cost

Options :

686340152433. 1
686340152434. 2
686340152435. 3
686340152436. 4

Question Number : 10 Question Id : 68634038597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct spelling word for:

"A board game in which players buildup words from small size lettered tiles.”

1. Scrablle

2

. Scrabble
3. Skrable

4. Serablee

Options :

686340152437. 1
686340152438. 2
686340152439. 3
686340152440. 4

Question Number : 10 Question Id : 68634038597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct spelling word for:
"A board game in which players buildup words from small size lettered tiles.”
1. Serablle
2. Scrabble

3. Skrable

4. Serablee

Options :

686340152437. 1
686340152438. 2
686340152439. 3
686340152440. 4

Question Number : 11 Question Id : 68634038598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I ] 2 %
If 5x+4y = §3 and — = 1. then the value of x*-)* 1s:

2x :
3y 21

1. 83

2

iy
3. 18
4.4

Options :

686340152441. 1
686340152442. 2
686340152443. 3
686340152444. 4

Question Number : 11 Question Id : 68634038598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 2x 1 ;
If 5x+4y =83 and = 1 —. then the value of 27 is:
3y

1. 83

| B

Eily
3. 18
4.4
Options :
686340152441. 1
686340152442. 2

686340152443. 3
686340152444. 4

Question Number : 12 Question Id : 68634038599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 cm, 9 m and 4 m
05 cm.

1.16m
2. 95 em
3.65cm
4.45 em

Options :



686340152445. 1
686340152446. 2
686340152447. 3
686340152448. 4

Question Number : 12 Question Id : 68634038599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 cm, 9 m and 4 m
05 cm.

1.16m
2. 95 em

.65 em

Lad

4. 45 em

Options :

686340152445. 1
686340152446. 2
686340152447. 3
686340152448. 4

Question Number : 13 Question Id : 68634038600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of marks of 15 papers 1s 42. The average of marks of first 8 papers is 45 and that of the last 8

STh

papers is 36. The marks of 8" paper are:

115

| ]

16
58 [
4. 18

Options :

686340152449. 1
686340152450. 2
686340152451. 3
686340152452. 4

Question Number : 13 Question Id : 68634038600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of marks of 15 papers 18 42. The average of marks of first 8 papers 1s 45 and that of the last 8

STh

papers is 36, The marks of 8™ paper are:

3 DB

| ]

. 16
8 [
4. 18

Options :

686340152449. 1
686340152450. 2
686340152451. 3
686340152452. 4

Question Number : 14 Question Id : 68634038601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 1s 3:5. then after
five years the ratio of their ages will be:

Options :

686340152453. 1
686340152454. 2
686340152455. 3
686340152456. 4

Question Number : 14 Question Id : 68634038601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages is 3:5. then after
five years the ratio of their ages will be:



Options :

686340152453. 1
686340152454. 2
686340152455. 3
686340152456. 4

Question Number : 15 Question Id : 68634038602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for T 3.600. Sonu along can do it in 6 days while Monu alone
can do it n 8 days. With the help of Ramu, they finish 1t m 3 days. The share of Ramu (in ) wall be :

1.1350

d
L]
[
=)

4. 450

Options :

686340152457. 1
686340152458. 2
686340152459. 3
686340152460. 4

Question Number : 15 Question Id : 68634038602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for T 3.600. Sonu along can do it in 6 days while Monu alone
can do it in 8 days. With the help of Ramu, they finish it in 3 days. The share of Ramu (in I) will be :

1.1350

| B

. 900
3.1200
4. 450

Options :

686340152457. 1
686340152458. 2
686340152459. 3
686340152460. 4

Question Number : 16 Question Id : 68634038603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position. what is the Nisha's position from the
Muskan’s left side row end?

| ]
[ B
o

4 24

Options :

686340152461. 1
686340152462. 2
686340152463. 3
686340152464. 4

Question Number : 16 Question Id : 68634038603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position. what is the Nisha's position from the
Muskan’s left side row end?

[ ]
[ )
o

4.24

Options :

686340152461. 1
686340152462. 2
686340152463. 3
686340152464. 4

Question Number : 17 Question Id : 68634038604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain code. 15789 is written as EGKPT and 2436 is written as ALUR, how is 24539 written in that
code?

1. ALGTU
2. ALEUT
J.ALGUT

4. ALGRT

Options :

686340152465. 1
686340152466. 2
686340152467. 3
686340152468. 4

Question Number : 17 Question Id : 68634038604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain code. 15789 is written as EGKPT and 2436 is written as ALUR. how is 24539 written in that
code?

1. ALGTU
2.ALEUT
3. ALGUT

4. ALGRT

Options :

686340152465. 1
686340152466. 2
686340152467. 3
686340152468. 4

Question Number : 18 Question Id : 68634038605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(11) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

I1. Some dim is top.

III. Some dim 1s leaf.

IV. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| B

. Only II and IIT follow

LFS]

. Only IIT and IV follow
4. Only I and IV follow

Options :

686340152469. 1
686340152470. 2
686340152471. 3
686340152472. 4

Question Number : 18 Question Id : 68634038605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(11) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

I1. Some dim is top.

III. Some dim 1s leaf.

IV. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| B

. Only II and IIT follow

LFS]

. Only IIT and IV follow
4. Only I and IV follow

Options :

686340152469. 1
686340152470. 2
686340152471. 3
686340152472. 4

Question Number : 19 Question Id : 68634038606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-I

o [t Iz 4
o |[F [a [W]o [t
1 I Jo Fla |n
2 AN ot [F
3 JofF I [v [a
4+ N1 [AlF Jo
Matrix-I1
s 16 718 o |
5 s [B [T
6 |H[s [E[T [B
7 It s | [H
s |E [H [T [B s
9 It s [E g |B |

Identify the correct set for the word FAITH :
1.43.42,41, 78, 89
2. 3%,34,23, 76,79
3.24,31. 10, 59, 57
4,12, 20.40. 68. 65
Options :
686340152473. 1
686340152474. 2

686340152475. 3
686340152476. 4

Question Number : 19 Question Id : 68634038606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-I

0ot 23 |4
0 |F Ja w]o |t
1 I Jo Fla |N
2 [ANJoft JF
3 JoJF L v Ja
4 vt [AlF Jo
Matrix-IT
s e 708 Jo |
5 IsE s It
6 H s [T |B
7 BIr s e |u
8 |EH T [B s
9 |t s [E|H [B |

Identify the correct set for the word FAITH :
1.43.42.41, 78, 89
2.31,34,23,76,79
3.24,31.10. 59, 57
4.12. 20. 40, 68. 65
Options :
686340152473. 1
686340152474. 2

686340152475. 3
686340152476. 4

Question Number : 20 Question Id : 68634038607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Select the pair that has the same relationship as the original pair of words given below
Egg : Omelette
1. Dam : River
2. Student : Classroom
3. Onion : Jam

4. Clay : Pottery

Options :



686340152477. 1
686340152478. 2
686340152479. 3
686340152480. 4

Question Number : 20 Question Id : 68634038607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the pair that has the same relationship as the original pair of words given below

Egg : Omelette

1. Dam : River

| B

. Student : Classroom
3. Onion ; Jam
4. Clay : Pottery

Options :

686340152477. 1
686340152478. 2
686340152479. 3
686340152480. 4

Question Number : 21 Question Id : 68634038608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which article of the Indian constitution provides for the institution of Panchayati Raj?

1. Artiele 36

J

Article 30
3. Article 40

4. Article 48

Options :

686340152481. 1
686340152482. 2
686340152483. 3
686340152484. 4

Question Number : 21 Question Id : 68634038608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which article of the Indian constitution provides for the institution of Panchayati Raj?

1. Asticle 36

| S]

. Artiele 30
3. Article 40

4. Article 48

Options :

686340152481. 1
686340152482. 2
686340152483. 3
686340152484. 4

Question Number : 22 Question Id : 68634038609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Book Name) LIST I {Author Name)
A My Truth 1. [Mahatma Gandhi
B. |The Broken Wings II. Indira Gandhi
C. DMy Experiments with Truth] III. [Sarojini Naidu
D. [Exam Warriors IV. |[Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II

| )

A-TIL B-1IL C-L. D-IV
3. A-IL B-II1, C-1, D-IV
4. A-IL, B-IIL, C-IV, D-I

Options :

686340152485. 1
686340152486. 2
686340152487. 3
686340152488. 4

Question Number : 22 Question Id : 68634038609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Book Name) LIST I {Author Name)
A My Truth 1. [Mahatma Gandhi
B. |The Broken Wings II. Indira Gandhi
C. DMy Experiments with Truth] III. [Sarojini Naidu
D. [Exam Warriors IV. |[Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II

| )

A-TIL B-1IL C-L. D-IV
3. A-IL B-II1, C-1, D-IV
4. A-IL, B-IIL, C-IV, D-I

Options :

686340152485. 1
686340152486. 2
686340152487. 3
686340152488. 4

Question Number : 23 Question Id : 68634038610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the first Indian women to win gold in Agian games ?
1. P.T. Usha
2. Shing Wilson
3. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340152489. 1
686340152490. 2
686340152491. 3
686340152492. 4

Question Number : 23 Question Id : 68634038610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the first Indian women to win gold in Agian games ?

1.PT. Usha

| S]

. Shing Wilson
3. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340152489. 1
686340152490. 2
686340152491. 3
686340152492. 4

Question Number : 24 Question Id : 68634038611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature,

In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A s true but R is not false

4. A is not false but B 15 true

Options :

686340152493. 1
686340152494. 2
686340152495. 3
686340152496. 4

Question Number : 24 Question Id : 68634038611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[ B

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is not false

4. A is not false but B 15 true

Options :

686340152493. 1
686340152494. 2
686340152495. 3
686340152496. 4

Question Number : 25 Question Id : 68634038612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I : Dolamite 1s used as refractory material and flux in iron and steel industry.

Statement IT : Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340152497. 1
686340152498. 2
686340152499. 3
686340152500. 4

Question Number : 25 Question Id : 68634038612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Give below are two statements:

Statement I : Dolamite 1s used as refractory material and flux in iron and steel industry.

Statement IT ; Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the mest appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

| S

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement I is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
686340152497. 1
686340152498. 2

686340152499. 3
686340152500. 4

Part B: Electrical Power and Energy Engineering

Section Id : 686340760
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401269
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634038613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 1 3]

For Matrix 4=/1 5 |/|.the sum and differences of maximum & minimum
3 1 1]

eight value of Matrix are 4 and §, then the eigen values for the Matrix A are.

1.5;-1,9

| S

=2:0:3
Feifr B
4,-1.6.3

Options :
686340152501. 1



686340152502. 2
686340152503. 3
686340152504. 4

Question Number : 26 Question Id : 68634038613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 1 3]
IR 4=1 5 1.9 [0 3eyg & HUwan R Aan siitriefies

E I

(mﬂ:{mﬁfﬁrﬁmﬁ? 3R 4 3R 8 ©. T 3MTo0g A & SfaeiOe AF g

1:5:+1;9

I

.-2.6.,3
3930

4.-1.6.3
Options :
686340152501. 1
686340152502. 2
686340152503. 3
686340152504. 4

Question Number : 27 Question Id : 68634038614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A car accelerate from it's Stationary position for 8 seconds and travels a distance of
280m.

According to the mean value theorem, the speedometer at a certain time during
accelaration must read exactly.

1.0

|

18 kemvhr

Ladi

75 kihy

4,126 kmv/hr
Options :
686340152505. 1
686340152506. 2
686340152507. 3
686340152508. 4

Question Number : 27 Question Id : 68634038614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0% HR AT R T ¥ 8 IFs & U @Rk sl 8 iR 2s0 MR Bl Sl ad
@l 5 | A WA & SER, 6 [t 99a w wismieR @) 31,
@RI & SR 941 °51Y (ifem) feam e

1.0

?
ﬂ.

4, 126 fpdiEer
Options :
686340152505. 1
686340152506. 2
686340152507. 3
686340152508. 4

Question Number : 28 Question Id : 68634038615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

2 :

The solution of IZ 4y + ;\'Q = sin(log xz).
d? dx -
o
1.y::Acosngx}#Bﬁnﬂﬁgx}—gmn[Msz]
5 I

v=Acos (lug.\c:2 ) + Bsin ( log x° ) - gsin (logx)

3. y = Acos(logx) - Bsin(logx) += cos(logx)

ld |

4o gy Acos(lngxz] - an(l(lgxz) —Ecos(lugxz]

Options :

686340152509. 1
686340152510. 2
686340152511. 3
686340152512. 4

Question Number : 28 Question Id : 68634038615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e R ;
2d ,1: +xdi+_v:sin(logx2)ﬁﬁgl
d? dx

b

. = Acos(logx)+ Bsin(logx) —%sin [Iogxz]

| B

: L i
Ly = Acos[]ugxz)-l— Bsm(lugxz)+§sm{_lung}

3, y= Acas(logx] — BSil‘lUDgX) *: %CUSUOE—’C}

§ i I ’ -
4 y=4 cus(lng X2 ] — Bsin (Ing X2 ] - Ecm;(log i ]

Options :

686340152509. 1
686340152510. 2
686340152511. 3
686340152512. 4

Question Number : 29 Question Id : 68634038616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

#
E

The Radius of convergence of the power series [ (:} = Z - .
2743

n=0 =

_l-J

el | =

4.

L -

Options :

686340152513. 1
686340152514. 2
686340152515. 3
686340152516. 4

Question Number : 29 Question Id : 68634038616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oA (z)=Y 213 P AR B g

n
n=0 2

| )

|

L%
[

4.

b | —

Options :

686340152513. 1
686340152514. 2
686340152515. 3
686340152516. 4

Question Number : 30 Question Id : 68634038617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If x 15 continuous random variable, and a probability density function

F (x] = ,f(e_?’!xf, xe (—m, oo) . The value of k is

et
LTS

[
b | s

| 2

4.2
Options :
686340152517. 1
686340152518. 2
686340152519. 3
686340152520. 4

Question Number : 30 Question Id : 68634038617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe x Ue Iad gef=s® =R & IR T Wiedl 99d BT
f(*c.) = fce_j’!'r#, TE (—cn_ m) S d Lk PTHAE B

1.3

b
[T

i | B2

4.2
Options :
686340152517. 1
686340152518. 2
686340152519. 3
686340152520. 4

Question Number : 31 Question Id : 68634038618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Force current analogy. stiffness constant K 1is analogous to

1. Inductance

J

. Raciproeal of Inductance
3. Capacitance

4. Raciproeal of Capacitance
Options :
686340152521. 1
686340152522. 2
686340152523. 3
686340152524. 4

Question Number : 31 Question Id : 68634038618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
SU-4RI STE9al 4, Al 0N K %4 o

1. Wb

2. IR oI fga™

3. TR

4, 41l & faerH
Options :

686340152521. 1
686340152522. 2




686340152523. 3
686340152524. 4

Question Number : 32 Question Id : 68634038619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A moving coil ammeter having resistance of 10 ochm gives full scale. detection
when current of 5 mA passed through it. The resistance to be connected to make
the instrument to read up to 1 A is

1. 0.05025Q

| )

L 5%1073Q
3.50Q

4. 50.0328
Options :
686340152525. 1
686340152526. 2
686340152527. 3
686340152528. 4

Question Number : 32 Question Id : 68634038619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US 9d Poal THex, [orya wiawie 10 3 (@) §. 919 39 & 9 5 mA [dggd
YRT FaTed Sl & ol a8 gl wha Ay iR &1 39 feriy o1 A ey
ford Old IUHUI Y SIIST WU dI 98 1 AT U I |

1. 0.050258

4. 50.03282
Options :
686340152525. 1
686340152526. 2
686340152527. 3
686340152528. 4

Question Number : 33 Question Id : 68634038620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a frequency sensitive bridge?

1. De-Santy Bridge

| B

. Owen's Bridge
3. Wien's Bridge

4. Maxwell's Bridge
Options :
686340152529. 1
686340152530. 2
686340152531. 3
686340152532. 4

Question Number : 33 Question Id : 68634038620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafifad ¥ 3 o9 te safd godt Sg
1. S 9g
2. 399G
3.9 Eg
4, Tayad 9g

Options :

686340152529. 1
686340152530. 2
686340152531. 3
686340152532. 4

Question Number : 34 Question Id : 68634038621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A0 to 200V Voltmeter has a accuracy of 1% of full scale reading. The voltage
measure by this instrument 13 S0V, What 13 limiting error?

1.4%

[ ]
o
=]

4. 0.25%
Options :
686340152533. 1
686340152534. 2
686340152535. 3
686340152536. 4



Question Number : 34 Question Id : 68634038621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 0 - 200V dlieediex &1 gyrdar quf wra HfEn @9 & fom 19 51 afe a8
IYHROT 50 Tlecs AU & df SGHT SHd Ffe Sl -

1. 4%

4. 0.25%
Options :
686340152533. 1
686340152534. 2
686340152535. 3
686340152536. 4

Question Number : 35 Question Id : 68634038622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which displacement transducer 1s used for accurate and linear measurement?

1.LVDT

| B

. Strain gauge
3. Potentiometer

4. Capacitive displacement transducer
Options :
686340152537. 1
686340152538. 2
686340152539. 3
686340152540. 4

Question Number : 35 Question Id : 68634038622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Y G SR &1 wan gurf 3R & A9e & e grar g2

1.LVDT

faepfaamd

3, fayaamdt

4, YIfeeT foRITo S asER
Options :

686340152537. 1
686340152538. 2

|



686340152539. 3
686340152540. 4

Question Number : 36 Question Id : 68634038623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

c(s)

The overall gain —

G

of the block diagram shown below 1s

c(s)

GGy
1. -
- G,G,HH,
) GGy
3 GIGZ
'1-G,H, + GG, H,
GGy
4 : :
1-G,G,H, - G,G,H,

Options :

686340152541. 1
686340152542. 2
686340152543. 3
686340152544. 4

Question Number : 36 Question Id : 68634038623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ik

GGy

1= G, Hy — GG, H,

1~ Gy H, + GGy H,

L%

4 GI GZ
' 1-G,G, H, - GG, H,
Options :
686340152541. 1
686340152542. 2
686340152543. 3
686340152544. 4

Question Number : 37 Question Id : 68634038624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Characteristic Equation)| (Nature of Output)
A |s2+185+64 I |Underdamped
B. |gi:2s II. [Crtically damped
C. |s2-125-36 III. [Undamped
D. [sf+85-25 IV, [Overdamped

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

[ ]

CA-TV, B-11, C-II1, D-1
3. A-I. B-III. C-II. D-IV

4. ATV, B-II1. C-I1. D-1
Options :
686340152545. 1
686340152546. 2
686340152547. 3
686340152548. 4



Question Number : 37 Question Id : 68634038624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 9 e ifog
T 1 T 1L
A [s2-185+64 L [ 3@Rfed
B. [s2+25 11 [ifdda: sgHfed
C. |s21105436 1L |3fgdicd
D. [s2+85+25 V. [sffrergrfea
EfRad f9epedl o 9 9El Go &1 95 SIS :

1. A-I. B-II. C-IIL. D-IV

| )

CA-IV. B-11, C-II1, D-1
3. A-L, B-III, C-IL, D-IV

4. A-IV, B-II1. C-II. D-1
Options :
686340152545. 1
686340152546. 2
686340152547. 3
686340152548. 4

Question Number : 38 Question Id : 68634038625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

LISTI LISTII
(Nature of Component)] (Iype of Component)
A |Amplidvne 1. |Rate feedback element
E. |Potentiometer II. |Actuator
C. |5tepper Motor 1. |Serveo Amplifier
D JAC Tacho generator] IV. |[Error detector

Choose the correct answer from the options given below:

1. A-IIL B-II. C-1. D-IV

| )

A-L B-II, C-IIIL. D-IV,
3. A-IL B-IV. C-II, D-I

4. A-I. B-TV. C-II1.D-IT
Options :
686340152549. 1
686340152550. 2
686340152551. 3
686340152552. 4



Question Number : 38 Question Id : 68634038625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

e 11 gl 11 9 e o

g1 Tl 11
EESIEIE,] 1 [&3 gAERY aaq|
ERELIE 1. [acd
a1 [gal-yats
AC Bl 9 | IV [l dga®

afciRad [doedi © O gl 392 &1 9494 Dol -

1. A-IIL B-II. C-1. D-IV

ofa[w]s

2. A-L B-IL. C-III. D-IV.
3. A-IIL B-IV. C-II. D-I

4. A-1. B-IV. C-II1.D-II
Options :
686340152549. 1
686340152550. 2
686340152551. 3
686340152552. 4

Question Number : 39 Question Id : 68634038626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. For a linear discrete system to be stable, the characteristics equation
1+GH(z)=0, should be inside the unit circle.
B. Bode diagram of a sampled data system can be constructed using bilinear
transformation.
C. Root locus technique can be used for sampled data system. without requiring
modification.

Choose the most appropriate answer from the options given below:

1. A Only

| )

.B and C Only
3. Aand C Only

4. A.B and C Only
Options :
686340152553. 1
686340152554. 2
686340152555. 3
686340152556. 4



Question Number : 39 Question Id : 68634038626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. U@ &S 3Ridd Ul (F9g) & fag, Wl g1 & fau fafkm gedtemwo
1+GH(z)=0 P1, DI g & HIdR gH1 18T
B.WWW?H%WWWWWWW
STl
C. g (g2 dop-iie o] Wi, WidaRid Srer wone & fer (6= fo
iRl &, foean 51 9@ g

= 133 U fasedl & walive Sugead 3ok &1 99 B
1. Pad A

. PaAB AR C

. Had AR C

4. PAAA B IR C

Options :

686340152553. 1
686340152554. 2
686340152555. 3
686340152556. 4

| )

L% ]

Question Number : 40 Question Id : 68634038627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Nyqusit plot of a system passes through (-1. j0) point in the G(jo) H (jo)
plane. the phase margin of the system 1s

1. Infinite

B

. greater than zero but not infinite
3. zero

4. less than zero
Options :
686340152557. 1
686340152558. 2
686340152559. 3
686340152560. 4

Question Number : 40 Question Id : 68634038627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fep it gomTell o1 Agfdee e, fbdl fdg (-1. j0) U, T¢ Go) H (o) § T IR
2. ol yuIrell &1 drar 9fveR g

e

b2

Y A TS1 IR 3fHd 5l

3.4
4. I DH

Options :

686340152557. 1
686340152558. 2
686340152559. 3
686340152560. 4

Question Number : 41 Question Id : 68634038628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The system matrix of a linear time invariant continuous time system 1s given by

What are the roots of characteristics equation.

1.-1. -4

| ]

.-1.-5
3.-4.-5

4.0, -1
Options :
686340152561. 1
686340152562. 2
686340152563. 3
686340152564. 4

Question Number : 41 Question Id : 68634038628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



0% &% BIal Aid Gad g yonel &1 e iegs fRar srar s

. _
d:[ ) 1
]
dl fafRry gHiteu & 0d (7<) B
1.-1.-4
2.-1.-5
3.-4.-5
4.0, -1
Options :

686340152561. 1
686340152562. 2
686340152563. 3
686340152564. 4

Question Number : 42 Question Id : 68634038629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: The state transition matrix represents the free response of the system.
Reason R: The state transition matrix satisfies the homogeneous state equation

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R NOT the correct explanation of A
3. A 1s correct but R is not correct

4, A 1z not correct but R is correct
Options :
686340152565. 1
686340152566. 2
686340152567. 3
686340152568. 4

Question Number : 42 Question Id : 68634038629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=19 2 HYF AU §: TP SifUFUH (Assertion A) & 39 1 fo11Ed § d o1 39
@Il (Reason R) % 30 1;

HIUBUYA A: AR HH TV TR, (T B gad Sl a2l §

DRUIR: ST YPHUT S{T6g, T ST GHIGI S| ¥ $3dl &
SRIF BY & el 1, - G faeeal d 9 a9 Sugad SR &1 99

1. A 3R R SHI T8l § AR R. A D] T RSN €
2. A SRR G Ugl €. AfP R, A T g IR 781 §

3. ATEI e OfeTR TR ®

4 ATEI RIS AP R TEI
Options :
686340152565. 1
686340152566. 2
686340152567. 3
686340152568. 4

Question Number : 43 Question Id : 68634038630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The transfer function for the diagram shown below 1s given by

I
|
I\
Input R Output
; 1
1+ SRC
. SRC
"~ 1+ SRC
SRC
- 1-SRC
4.1+ SRC

Options :

686340152569. 1
686340152570. 2
686340152571. 3
686340152572. 4



Question Number : 43 Question Id : 68634038630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 faw v = &1 siafd wed fRar s g

T

TN

1

Fram R fomn

1
.. Cimm—
1+ SRC

SRC
"1+ SRC

|

3 SRC
" 1-SRC

4,1+ SEC
Options :
686340152569. 1
686340152570. 2
686340152571. 3
686340152572. 4

Question Number : 44 Question Id : 68634038631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Damper Winding I. |To improvement the power factor
[ aminated steel II. |To reduce the starch current

LAuto transformer starters | [I1 [Prevent hunting
synchronous condenser | IV, [Reduce eddy current loss

SEEE

Choose the correct answer from the options given below:

1. A-TIL, B-IV. C-II. D-I

| ]

CA-IV, B-1I1L C-1L D-II
3. A-I. B-IL. C-III. D-IV

4. A-TV. B-II1. C-11. D-1
Options :
686340152573. 1
686340152574. 2
686340152575. 3
686340152576. 4



Question Number : 44 Question Id : 68634038631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

el 1 BT T 11 ¥ e Sifon

A1 =0 11
A |savies ded 1 [aifea e @ guRE @ o
B [felod ¥ ia 1. [IRA® YN &1 ®H B3 & [ag
C. [fauRoniiE yads (sieleamiay| 11 gRasae g
D. [qeadiicie SUme] (GUTE) IV. [HaR YRT 8 &1 &H B
fafaiad faeedi & 9 95l 3R &1 994 Difol ;

1. A-IIL B-IV. C-II. D-I
2. A-IV. B-II1. -1, D-11
3. A-L B-IIL. C-IIL, D-IV

4. A-IV. B-IIL. C-I1. D-1
Options :
686340152573. 1
686340152574. 2
686340152575. 3
686340152576. 4

Question Number : 45 Question Id : 68634038632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find R . oyivalent of the given circuit.
I
—— W\ “WW——>——0 a
L o 30 ™
10V — <’]‘> 51,
< b
1.3.330
2.58
3. L7712
4,2.5Q
Options :

686340152577. 1
686340152578. 2
686340152579. 3
686340152580. 4



Question Number : 45 Question Id : 68634038632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T e 9RTY T R ey T B1OY

i
;. —A A AN —W > Q.
20) 30 E
|+
10V — <T> 52
= b
1.3.330
2.50
3.1.77Q
4,259
Options :

686340152577. 1
686340152578. 2
686340152579. 3
686340152580. 4

Question Number : 46 Question Id : 68634038633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The function of o1l in transformer is

it

. To provide nsulation & cooling

-J

. To provide protection against earthing
3. To provide protection from in rush current

4. To protect from eddy current
Options :
686340152581. 1
686340152582. 2
686340152583. 3
686340152584. 4

Question Number : 46 Question Id : 68634038633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS RIS @FBIER) § 9u & o giaT s
1. T 3R Sidaar ueH S

YDA & (GG YR e Pl

[

. SlcTalE URT Y GR&T T Bl

a2

4, HaX YRTGTE B & U ST
Options :
686340152581. 1
686340152582. 2
686340152583. 3
686340152584. 4

Question Number : 47 Question Id : 68634038634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
When the speed becomes more than the synchronous speed during hunting, the
damper bars develop

1. Synchronous motor torque

| )

. Single phase induction motor torque

L]

. Induction motor torque

4. Induction generator torque
Options :
686340152585. 1
686340152586. 2
686340152587. 3
686340152588. 4

Question Number : 47 Question Id : 68634038634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& BT @ SR A1d. qeddblicie 91d 9 {4 8l 5kl © dl aHgT 85
REEERGIN

. qegaTicrd Hiex aa STgul

. U d WG WRuf Hiex g oo
ORUT O1ex g STl

4, TRUT S & S0

Options :

686340152585. 1
686340152586. 2
686340152587. 3

—

[

L]



686340152588. 4

Question Number : 48 Question Id : 68634038635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The speed of an induction motor can not be continued as easily and
efficiently as that of a de shunt motor.

Statement IT: Slip of an induction motor can not be changed by varying the
voltage applied to the stator

1. Both Statement I and Statement II are true

[ )

. Both Statement I and Statement II are false

. Statement I is true but Statement I is false

Lad

4. Statement I is false but Statement II is true
Options :
686340152589. 1
686340152590. 2
686340152591. 3
686340152592. 4

Question Number : 48 Question Id : 68634038635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 gl pyA feu o g

HYF 1: TP WRUT HieT & 919, U S It e Hiee S Sue e maFT 3k
T ¥ T ot o wwd &

U 11: TS TRft Aiex & guvr (e & uftadH. 39% uad® (RYa) | a1
el dieew § YRadT $3d, Tl ol off Jaadl

TURIGKI HYT D 3l 1, A1 4T 7 forpedl § T 9ad SUged 3wk &1 99
FIIG;

1. BYA T 3R 11 a1 e &

b2

CHYT T ARG TTad 6
HYT I Tl 8. AP YT 1 TTad §

4, FYF 17T, AP FYF I TR ©
Options :
686340152589. 1
686340152590. 2
686340152591. 3
686340152592. 4

L5 ]



Question Number : 49 Question Id : 68634038636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

LISTI LISTII
(Type of Test) ( Quantities to be measured)
Open circuit test | I |Copper loss and iron loss

Short circuit test | 11 [Total losses

Sumpner's test | 1T |lron test
[ oad test IV, |Copper losses

ol ofw[>

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-1. D-II

| )

. A-TLL B-1. C-IV. D-III
3. A-IL B-1. C-IV. D-II

4. A-11. B-IV. C-1, D-III
Options :
686340152593. 1
686340152594. 2
686340152595. 3
686340152596. 4

Question Number : 49 Question Id : 68634038636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 = 11 9 e Sifsg

I I (URTE0T & U TR)EI 1T (AT o fore iR
A e gy ol | 1 [@I;w g AR e 5
B. [T ORTY {&m | I [0 51
C. [gHR Gieo 1L [d8-g™
D. [als (HR) Tt |1V [ o™

frafead faeedl § 9 Het IR &1 997 Bty ;
1. A-IIL B-TV, C-L, D-II
2. A1, B-1, C-TV, D-IMI
3. A-IIL B-I, C-IV. D-II

4, A-II. B-IV. C-I. D-III
Options :
686340152593. 1
686340152594. 2
686340152595. 3
686340152596. 4



Question Number : 50 Question Id : 68634038637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Core loss in a transformer is usually

1. 1% to 3%

[ )

. 10% to 15%
3.25% 10 30%

4, 40% to 50%
Options :
686340152597. 1
686340152598. 2
686340152599. 3
686340152600. 4

Question Number : 50 Question Id : 68634038637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SBIER (aionfia) § o1s g sfded gidl o

1.1% 9 3%

L 10% 9 15%

[

3.25% 9 30%

4. 40% ¥ 50%
Options :
686340152597. 1
686340152598, 2
686340152599. 3
686340152600. 4

Question Number : 51 Question Id : 68634038638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Series field winding of de machine consists of

1. few turns of thick wire

J

. few turns of thin wire
3. many turns of thick wire

4. many turns of thin wire.
Options :
686340152601. 1
686340152602. 2
686340152603. 3



686340152604. 4

Question Number : 51 Question Id : 68634038638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fepyrl cof i) 7= o1 4ufl 83 pocll gl gldi © -
1. $E YA R &
2. P9 PO AR &
3. 9gd A B AR AR &
4. 9gd Y B Udall dR &

Options :

686340152601. 1
686340152602. 2
686340152603. 3
686340152604. 4

Question Number : 52 Question Id : 68634038639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
l
A by L |=—
Zy
i 1
B. |ha; 0 | &=
h
1
C. =1 I, | =
H,
D AN ]
B 14 .
Z?.?.

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-IIL. D-I

| ]

CA-IL B-IV, C-1, D-III
3. A-IV. B-II. C-1, D-III

4, A-IIL. B-IV. C-1. D-II
Options :
686340152605. 1
686340152606. 2
686340152607. 3
686340152608. 4



Question Number : 52 Question Id : 68634038639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 9 e sifoe

T 1 il
|
A [y L ===
Z]l
" 1
B. |ha; It | 5=
h
|
C. len IIT. "'};,'—
2
D IN ]
- B2z !

frafefed famed 7 9 W6l SR @1 997 SN -
1. A-II, B-IV, C-TIL, D-I
2. AL, B-IV. C-I, D-III
3. A-IV, B-IL, C-I, D-III

4. A-IIL B-IV. C-1. D-TI
Options :
686340152605. 1
686340152606. 2
686340152607. 3
686340152608. 4

Question Number : 53 Question Id : 68634038640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: A series RLC circuif is said to be in resonance when current
delrvered by the source ig in phase with the source voltage.

Statement IT: Power factor of a series RLC is zero, if circuit 13 in resonance
condition.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true

|8}

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
Options :



6863401526009. 1
686340152610. 2
686340152611. 3
686340152612. 4

Question Number : 53 Question Id : 68634038640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g Py Ry El

@Y 1. U 40fl RLC GROY 3141 Seardl g o/d 9id gRI W& &1 Ty, [aggd
YRT, I (Glec) & 1Y Hen d il g

ﬁﬂ?ﬂ:éﬁﬁ%ﬂﬂmcuﬁqﬁﬁmﬁw'@@@ﬂ%ﬁﬁﬁww
ffad gl

SIS BYF & 3edie o, A fu e fefeedl © 9 9ad IUgdd IR &1 994
PO

1. HYF 1 AR 11 9a1 &
PYF 1 SR 11 SH TTad ©
Y1 Tel 8. dfpd HYA 11 TTad ©

| )

Ladi

4. YT 17T, AP FUT 11 TRl &
Options :
686340152609. 1
686340152610. 2
686340152611. 3
686340152612. 4

Question Number : 54 Question Id : 68634038641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The transfer impedances and admittance of a network remain constant when the
position of excitation and response are interchanged if the network

A. 13 linear
B. consists of bilateral elements
C. has high impedance or admittance as the case may be
D. is resonant
Choose the most appropriate answer from the options given below :
1. A and B only
2. A.Cand D only
3.B and D only

4. A B.Cand D only
Options :



686340152613. 1
686340152614. 2
686340152615. 3
686340152616. 4

Question Number : 54 Question Id : 68634038641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feddt afegy =t siafa ufdan sk yavgar fRR Edi § od a3k
fifepar ot FRufal R 9ea Wit €, afe ity |

AXET®
B. fguelig sauai mr a1
C. B 3= ufcsryr a1 wawad 2. (RR 3FER)

D. Al §
=i 12 U fawpedl  walide Sugad 3Tk &1 909 Hi|

1. %ad A SR B

. Pad A. C 3R D
3. $auB3RD

4. Pdd A B.C 3R D

Options :

686340152613. 1
686340152614. 2
686340152615. 3
686340152616. 4

[ ]

Question Number : 55 Question Id : 68634038642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For a fixed voltage, the current flowing through a conductor will increase when it's

1. Area of X-section 1s reduced

B

. Length 1s reduced
3. Length is increased

4. Length 1s increased and x-sectional area 1s reduced.
Options :
686340152617. 1
686340152618. 2
686340152619. 3
686340152620. 4

Question Number : 55 Question Id : 68634038642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

R fava (@l . fodt wrae 8 5 Y6l faggd urT 9¢ oI, 5ie 39!

1. X-WS B &6 HH gl Sl

. TS & g1 STl

Wil 9 Syt

4. GETS dg St 3R X-ES &1 9% d HH g Sl

Options :

686340152617. 1
686340152618. 2
686340152619. 3
686340152620. 4

[ ]

[F¥]

Question Number : 56 Question Id : 68634038643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If Thevenin's equivalent resistance of the given circuit seen from the open
terminals 1s 28, then the value of 'R’ will be

*M.T- m&
20 R
L
sv() 1A CL) 20 P
1.48
2.289
3. 18
4. 602
Options :

686340152621. 1
686340152622. 2
686340152623. 3
686340152624. 4

Question Number : 56 Question Id : 68634038643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1< f3u U faega ufvoy &1 46 den nioRiy, o9 S 9a <fi-a 9 41
WA e ST HE 20 8| df 'R &1 HF 811

ﬁMI‘I. l“wl
20 R
sv() 1A (D 202 -
1. 48
2,28
.10
4. 682
Options :

686340152621. 1
686340152622. 2
686340152623. 3
686340152624. 4

Question Number : 57 Question Id : 68634038644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the figure shown, where H= High input. L = Low Input

H—>1,
H—=>1,
H—>|1,
L—>1,

—>out put

S, and S5 — Control Inputs

This multiplex is equivalent to

1. NAND gate

I-J

. AND gate

o

. OR. gate

4. Ex-NOR gate
Options :
686340152625. 1
686340152626. 2
686340152627. 3



686340152628. 4

Question Number : 57 Question Id : 68634038644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

feu 7o e & fear man &,
T8l B= 3= a9, L=Fa ey

H——= I
ll%‘ ]‘1

T

G
s, 3R s, - AR e

——=out put

U5 SgHPAD e © &

1. NAND Tic
.ANDTIE

3. OR7IE

[ B

4. Ex-NOR TI¢
Options :
686340152625. 1
686340152626. 2
686340152627. 3
686340152628. 4

Question Number : 58 Question Id : 68634038645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A combinational logic circuit has three inputs A, B and C and one output Y. The
output Y=1. when at least two inputs are 1. otherwise, Y=0. In its minimised SOP
realization. the maximum number of two-input terms is:

i |

[ ]
| B}

4.4
Options :
686340152629. 1



686340152630. 2
686340152631. 3
686340152632. 4

Question Number : 58 Question Id : 68634038645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Tgad Al (o) TRy & i Hd% A, B 3R ¢ 9u1 U@ =i v 81 Ff|
Y=1BId1 & oid ®H I B gl (992 1 81d B, Fel dl Y=0 B & | 3T TAaHidd
SOP WIqU H, 3if¥&ad (gl) 2 - R 1l &1 e g

j

4.4
Options :
686340152629. 1
686340152630. 2
686340152631. 3
686340152632. 4

Question Number : 59 Question Id : 68634038646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
(Oscillator and Amplifier) (Characteristics)
A |[Wien-bridge oscillator I. |Low output impedance
B. [Voltage-shunt feedback amplifier | II RF frequency range
C. |Crvstal Oscillator 1L JAudio frequency range
D. [Current-shunt feedback amplifier | IV. [High output impedance

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-III. D-I

| )

CACTIL BAIL G-I D-IV
3. AL B-LL, C-IL, D-IV

4. A-11. B-I11I, C-IV, D-1
Options :
686340152633. 1
686340152634. 2
686340152635. 3
686340152636. 4

Question Number : 59 Question Id : 68634038646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

el 11 gl 11 9 e o

el 1 (GIa® AR Uau®) | =i 1 (a=man)
A [dH-Yg e L [=% 1a wigan
e ol-2id IHI0 11 [RF 3maa g
C. [ d glam 111 |%eg STl g
D. [4R1-Tfe G50 yatid | Iv. [3= 471d piaars

afciRad [doedi © O gl 392 &1 9494 Dol -

1. A-I1. B-IV. C-III. D-1

e B

2. AL B-11. C-1, D-IV
3. A-IIL B-I. C-IL. D-IV

4. A-II. B-II1. C-IV. D-I
Options :
686340152633. 1
686340152634. 2
686340152635. 3
686340152636. 4

Question Number : 60 Question Id : 68634038647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The resolution for n-bit system D/A Converter is

]

4.2%
Options :
686340152637. 1
686340152638. 2
686340152639. 3
686340152640. 4

Question Number : 60 Question Id : 68634038647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U o-fae youirelt (Feom) DA 9ftade & fou fadeq

I
|

i

| ]

3 9N

4. 28
Options :
686340152637. 1
686340152638. 2
686340152639. 3
686340152640. 4

Question Number : 61 Question Id : 68634038648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
The input-output characteristics of a Schmitt trigger 15 given in figure.

The noise margin of the Schmitt Trigger 1s

AV,
5V
3 M
&Y v Vi
LAV
2.2V
3.3V
4.4V
Options :

686340152641. 1
686340152642. 2
686340152643. 3
686340152644. 4

Question Number : 61 Question Id : 68634038648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



% e R 1 Faw-frig fasan faa § g €
f¥re foR @1 @ Suid @m) g

W,
5V

v W :

1.1V

| ]

2V
3.3V

4.4V
Options :
686340152641. 1
686340152642. 2
686340152643. 3
686340152644. 4

Question Number : 62 Question Id : 68634038649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the number of selector lines required in a 1:16 demultiplexer?

1.16

J
ik

3.4

4,218
Options :
686340152645. 1
686340152646. 2
686340152647. 3
686340152648. 4

Question Number : 62 Question Id : 68634038649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 1:16 Sgdiddd § fobd-l T &1 afva 3@l (Addc s dig) SaRgdhdl

gl ©

1. 16

b
—

3.4

4. 216
Options :
686340152645. 1
686340152646. 2
686340152647. 3
686340152648. 4

Question Number : 63 Question Id : 68634038650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion: Clipping circuits control the shape of the waveform by clipping on
removing a portion of the applied wave.

Reason R: Clipping circuit needs minimum three components namely an ordinary
diode, a resistor and a capacitor.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R NOT the correct explanation of A

L)

. A is correct but R is not correct

4. A is not correct but B is correct
Options :
686340152649. 1
686340152650. 2
686340152651. 3
686340152652. 4

Question Number : 63 Question Id : 68634038650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=19 2 H2F AU §: TP 3P UT (Assertion A)  F9 J 01fEd & a1 go=1 396
@Il (Reason R)%Wﬁ

HIUBHYF A: Fo- URUY, Fad A1 YGaEd a7l & Ud HUF Bl §elH & gRI o]
= B! AHha e eRd €

PRUR: B INTY B HH I $H dF Ueh! I HAGWHA Bid! &, TP FH=
ST, U Ufdid 3R uw guifa

SWRIGd HY & 3l H, 19 30 fapedl & ¥ Ie8 3ugad IR &1 99

1. A SRR M 6l & 3R R, A T To| ARS &

. A SRR T8] €. A R, A 1 98t Sore el &
3.ATEI R AfFT R U@ TR ®

4 AT TRITAfPTR TS ©

Options :

686340152649. 1
686340152650. 2
686340152651. 3
686340152652. 4

b

Question Number : 64 Question Id : 68634038651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the power and current gains of a transistor amplifier are 16500 and 100
respectively. then voltage gainis

1.165
2. 165<10%
3. 100

4. 1/165
Options :
686340152653. 1
686340152654. 2
686340152655. 3
686340152656. 4

Question Number : 64 Question Id : 68634038651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ofe Ud giforex Haud & Waq AR URT A HHE: 16500 31X 100, T dleedl
(fgya) af<r e

1. 165

. 165x<10%

[ ]

3,100

4, 1/165
Options :
686340152653. 1
686340152654. 2
686340152655. 3
686340152656. 4

Question Number : 65 Question Id : 68634038652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The purpose of a coupling capacitor in a transistor amplifier is to

1. increase the output impedance of transistor

| B

. protect the transistor
3. pass A.C and block D.C

4. provide biasing
Options :
686340152657. 1
686340152658. 2
686340152659. 3
686340152660. 4

Question Number : 65 Question Id : 68634038652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U& giforees Yadd o, Ud g TR &1 3R © -
1. giforex &t fArta wideren &1 sgmAT
2. CifSTReX & YR
3. TATad! 9RT (AC) 1 984 o IR f3F 4RI (DC) BT IS
4. HIF (GT9H) W& S

Options :

686340152657. 1
686340152658. 2
686340152659. 3
686340152660. 4




Question Number : 66 Question Id : 68634038653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The frequency stability of the oscillator output is maximum in

1. LC Oscillator

[ )

. phase-shift Oscillators
3. Crystal Oscillators

4. Wein bridge Oscillators
Options :
686340152661. 1
686340152662. 2
686340152663. 3
686340152664. 4

Question Number : 66 Question Id : 68634038653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS qIa® & 710 &1 1gh =@ # 3ffepaH Il B |
1.LC glad

. pofl-faRTd

3. fopeea alaia

4. 9 U aleid

Options :

686340152661. 1
686340152662. 2
686340152663. 3
686340152664. 4

|

Question Number : 67 Question Id : 68634038654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dark Current in semi-conductor photo-diode is

1. The forward bias current

ol

2. the forward saturation current

. the reverse saturation current

L]

4, the transient current
Options :
686340152665. 1
686340152666. 2
686340152667. 3



686340152668. 4

Question Number : 67 Question Id : 68634038654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0% Seae® Biel S § 3 4RI ¢ -

1. 3R amag Y
. Y G 4RI

Y e U

4, &fore URT

Options :

686340152665. 1
686340152666. 2
686340152667. 3
686340152668. 4

-2

%]

Question Number : 68 Question Id : 68634038655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
An Op-amp has a slew rate of 5V/us. The largest sine wave output voltage
possible at a frequency of IMHz 15

1. 10mV

b2

5V

Lad

(SIV

4. (52m)V
Options :
686340152669. 1
686340152670. 2
686340152671. 3
686340152672. 4

Question Number : 68 Question Id : 68634038655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Ud Op-amp Dl qd H&Uﬁ ¥ 5V/us & | FUIfad SIE®dH sine T F9id diecsl,
1MHz 3Tgft &R gl -

1.10nV

| B

L5V
3. (5/mV

4. (512m)V



Options :

686340152669. 1
686340152670. 2
686340152671. 3
686340152672. 4

Question Number : 69 Question Id : 68634038656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a fixed-bias common-emitter Circuit.

A. Maintaining Iy constant will not provide operating-point stability as p
changes.

B. IB should not be allowed to change as to maintain Vg and I, constant as [
changes.

C. The reverse saturation current Ico doubles for every 10 °C rise in
temperature.

D. The value of stability factor S=(1+3)

E. The circuit is highly unstable

1. Aand C only

[ )

.A. Cand D only
3.A.B.C.D Oaly

4. A C.D E Only
Options :
686340152673. 1
686340152674. 2
686340152675. 3
686340152676. 4

Question Number : 69 Question Id : 68634038656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% fRR 9199 Sygy Sowe ukoy &,

A Tg I R §91U 3@ W1, p & uRgd 4. yaneH fdg ®iiia 38l ugH
BT

B. I, B! URad & SFHMd. Vg SR 1. B p & Uitadd g4 U=, (¥R §91U

C. 9% HqT ¥RT Ieo BT HF 8 10° € 9 G 4 GTHT 81 ST 5

D. RS0 Ul &1 HH S=(1+P) &

E. ROy 584 A% 3rumdt §

1. ®ad A SR C
BT A, C IHRD

. HAAA.B.C 3R D
4. PEAA, C.D ARE

Options :

686340152673. 1
686340152674. 2
686340152675. 3
686340152676. 4

[ ]

Lad

Question Number : 70 Question Id : 68634038657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Sequence components of the fault current in a system are as follows:

I =il.5pu

positive
Inega‘[iﬁ.'e =—j05pu
Lers = —11pu

The type of fault i a power system 1s

1.LG

I

s Tl
3.1LG

4. LLLG
Options :
686340152677. 1
686340152678. 2
686340152679. 3
686340152680. 4

Question Number : 70 Question Id : 68634038657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fop<il o § Y YR1 & 35 9e@ sH UPR [QU I § -

Limmegg =i1.5pu

Im= _j 0.5 p.ll
Ig{L:q= —j1lpau

gifad o § -3 UPR FTeN 82

1.LG

| R

. LL
3. LLG

4. LLLG
Options :
686340152677. 1
686340152678. 2
686340152679. 3
686340152680. 4

Question Number : 71 Question Id : 68634038658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Type of Device) | (Characteristics/ Application)
A |GTO I. |Triggering Circuit
B |[UIT II. [Tum off bv negative pulse rate
C. [TRIAC ITI. [High Speed Switching
D. IMOSFET IV [Bidirectional Switching

Choose the correct answer from the options given below:

1. A-IL. B-L. C-IV. D-II

| )

CA-TIL B-IV. C-1L D-II
3. A-I. B-IL. C-IV. D-III

4, A-I. B-IV. C-II, D-III
Options :
686340152681. 1
686340152682. 2
686340152683. 3
686340152684. 4

Question Number : 71 Question Id : 68634038658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 1 gl 1 8 e ifs

=l 1 g @1 U6 I 11 TR /Sug

A leTo 1. [gadd (STRA) IRy

B [UIT II. [BUTES Fg e GRI 86 Pl
C. [TRIAC 111 [3=d 91t fRaad

D. [MOSFET I EFCEAEEE]

Fafciad [l © U 9gl 3R &1 999 I ;
1. A-IL, B-I, C-IV, D-II
2. AIL, B-IV, C-I. D-II
3. A1, B-IL C-IV, D-III

4. A-1. B-IV. C-1I. D-IIT
Options :
686340152681. 1
686340152682. 2
686340152683. 3
686340152684. 4

Question Number : 72 Question Id : 68634038659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Type of relex) LIST 11 {characteristics)
X

/A
A PMho relay L /ﬁ\\ >R
N

B. |Plain Impedance Relay | I1

=4

\\f\
™ >R
W

C. [Directional relay 1L

A
h

A
D. JAngle Impedance Relay| TV. <D >R

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II. D-I

| )

CA-IV. B-1L C-1L D-III
3. A-IIL. B-I. C-I1. D-IV

4. A-IV. B-II. C-1. D-I1I
Options :
686340152685. 1
686340152686. 2
686340152687. 3
686340152688. 4

Question Number : 72 Question Id : 68634038659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 1 gl 1 9 e ifog
LIST I (WITHRUI & TP ) LIST II (9=a4ng)

A
e
A |(Mho) TE! WGHROT I il i -
N
A
B. [9d (@remon gfdaryr ufogror | o S
7
Y\
C. e uiggru 111 Y >R
Y
X
M
D [0 A Ao v K’\ SR
N

FafaRad fameal & 4 gl 3R &1 994 Sifeu.
1. A-IIL, B-IV, C-II, DI
2. A-IV, B-L, C-IL D-III
3. A-III, B-I, C-I1 D-IV

4. A-IV. B-II. C-1. D-I1I
Options :
686340152685. 1
686340152686. 2
686340152687. 3
686340152688. 4

Question Number : 73 Question Id : 68634038660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The meremental cost characteristics of two generators delivering a total load of
200MW are as follows.

dfl":dp'l =2.0+0.01 Pl' dfz-':dp2= 1.6+ DDEP:
What should be the values of P; and P, for economical operations?

1.P;=P,=100 W

J

. P1=80MW, P,=120 MW
3. P=200 MW, P, = OMW

4. P;=120MW, P,=80MV
Options :
686340152689. 1
686340152690. 2
686340152691. 3
686340152692. 4

Question Number : 73 Question Id : 68634038660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I T S 200MW T T TS HSH TR T & $I arfiie Jeu g & s §

dl ool y=TeH & [e7U P, 3iR P, &1 HF &1 R

1.P;=P, =100 W

[ ]

. Py=80MW, P>,=120 MW

Lad

. Py=200 MW, P, = OMW

4. Py=120MW, P,=80MV
Options :
686340152689. 1
686340152690. 2
686340152691. 3
686340152692. 4

Question Number : 74 Question Id : 68634038661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



The bus admittance matrix of a power system 1s given as.

] 2 3
| |—=/50 +/10 +/5
2 | +j10 =730 +,10
3 |+j5 +j10 —j25

The impedance of line between bus 2 and bus 3 will be equal to
1.-j0.1
2.+j0.2
3. 0.2

4, +j0.1
Options :
686340152693. 1
686340152694. 2
686340152695. 3
686340152696. 4

Question Number : 74 Question Id : 68634038661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Uo el (e () 1. &8 Wa=ad $fegg far man g -

I ) 3
1 |=j50 +/10 +/5
2 | +j10 =30 +/10
3 |+j5 +j10 —j25

9 2 SR 99 3 & &l Bl aIgd & gidare [eds exier ghil
1.-j0.1
2.+0.2
3.-j0.2

4.+0.1
Options :
686340152693. 1
686340152694. 2
686340152695. 3
686340152696. 4



Question Number : 75 Question Id : 68634038662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A buck regulator has a input voltage of 16V and the required output voltage 1s 4V.
What 1 the duty cycle of the regulator?

16

|

i 1

Options :

686340152697. 1
686340152698. 2
686340152699. 3
686340152700. 4

Question Number : 75 Question Id : 68634038662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
T 99 (MYRP) Fias® &1 39 Sieed! 16 vV § 3R mawge Fiid dicedr 4
Vv & dl Fdae® &1 Suhiffan 301 &1 g

[ ]

| =

4.

By WP

Options :

686340152697. 1
686340152698. 2
686340152699. 3
686340152700. 4

Question Number : 76 Question Id : 68634038663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The classification of transmission lines (T.L)as short. Medium & Long T.L 1s based
upon

1. Nomunal Voltage of the line

k2

. Physical length of the line
3. Wave length of the line

4. Power Transmitted over the line
Options :
686340152701. 1
686340152702. 2
686340152703. 3
686340152704. 4

Question Number : 76 Question Id : 68634038663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR WIE BT B0 o8 @Y, Fe 3R 41 frg | ameia g2
1. W & A8 dieedl

QIS B 1fifde <arg

RNIER AR

-2

%]

4. TS UR Widd &1 HaR0]
Options :
686340152701. 1
686340152702. 2
686340152703. 3
686340152704. 4

Question Number : 77 Question Id : 68634038664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In single pulse modulation of PWM inverter. third harmonic can be eliminated if
pulse width is equal to

1.60°

[ ]

S
3.150°7

4,120°
Options :
686340152705. 1
686340152706. 2
686340152707. 3
686340152708. 4



Question Number : 77 Question Id : 68634038664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U PWM UidaH® & Udhd g Argad 4. A2 sHIME 3 [aaw a1«
T&dl & gfe W ffwr FER T

1. 60°

[ ]

307
3.150°

4. 120°
Options :
686340152705. 1
686340152706. 2
686340152707. 3
686340152708. 4

Question Number : 78 Question Id : 68634038665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a 400 KV Network. 360 KV 1s recorded at a 400KV Bus. The reactive power
absorbed by stunt reactor rated for 50M VAR, 400KV connected at a BUS 13

1, 61.73MVAR

| B

. 55.60MVAR

LX)

CA5MVAR

4. 40 5MVAR
Options :
686340152709. 1
686340152710. 2
686340152711.3
686340152712. 4

Question Number : 78 Question Id : 68634038665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

TP 400 KV & URTGY H, 400KV 9 TR, 360 KV 3ifded fooar 1| T% gic
fyuges gy Fuifd soM VAR, 400KV §l T BUS & T4iford &, & foro
SIS wiardt wfdd il

1. 61.73MVAR

| ]

. 55.60MVAR
3. 45MVAR

4. 40.5MVAR
Options :



686340152709. 1
686340152710. 2
686340152711. 3
686340152712. 4

Question Number : 79 Question Id : 68634038666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The circuit shown in the figure will work as

,..
=
[ e
[ |
|
=
AN

1. Buck-boost converter

| B}

. Buck converter
3. Boost converter

4, Dual converter
Options :
686340152713. 1
686340152714.2
686340152715. 3
686340152716. 4

Question Number : 79 Question Id : 68634038666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. §% - 3Hfrafda gRade
g% - URad®

3. fftrafedd uRade

4. gd giade

Options :
686340152713. 1

b2



686340152714. 2
686340152715. 3
686340152716. 4

Question Number : 80 Question Id : 68634038667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the maximum output voltage of a 3-ph bridge rectifier supplied with line
voltage of 440V?

1. 528V

| ]

. 306V
3. 594V

4. 616V
Options :
686340152717. 1
686340152718. 2
686340152719. 3
686340152720. 4

Question Number : 80 Question Id : 68634038667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3-Ph I [APPRI, [5G4 440v &1 g4 dieedl WaH &1 Wil g, [d siftiaay
forie areear s grfy

1. 528V

[ ]

396V
3. 504V

4. 616V
Options :
686340152717. 1
686340152718. 2
686340152719. 3
686340152720. 4

Question Number : 81 Question Id : 68634038668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LIST II
Voltage Stabality 1. |Power system stabilizer|
Transient stability II. [Damping Power

Oscillatory instabiliny] 11 [Angle stability
Study-state dynamics| IV, [Reactive power

o ofw[=

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

-2

CA-IV. B-11L C-II1. D-1
3. A-I. B-IL. C-III. D-IV

4. A-TV. B-IT1. C-11. D-1
Options :
686340152721. 1
686340152722. 2
686340152723. 3
686340152724. 4

Question Number : 81 Question Id : 68634038668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks :

ﬂ}ﬁiﬁﬁ%ﬁﬂ@ﬁﬁﬂﬁﬁﬁm
Tt 1 T I
A [iesar =td I [Eied Mg s
B. |aifure ®IitE 1L |3favic fad
C. Gifid s | 110 [seivig =iiga
D. [t sragey aifge | 1V [rfufhaeia ofdg

frafaiad faeedl § 3 Jet IR &1 997 Sy ;
1. A-L, B-IIL, C-IL D-IV
2. ATV, B-IL C-111, D-I
3. A-L BIL C-IIL D-IV

4. A-IV. B-III. C-I1. D-1
Options :
686340152721. 1
686340152722.2
686340152723. 3
686340152724. 4

Question Number : 82 Question Id : 68634038669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PIV of a SCR 1s 650V. Find out the required Voltage if the safety factor 1s 2.

1. 230.4 Volt

[ Bl

232 Volt

. 300 Volt

Lad

4. 320 Volt
Options :
686340152725. 1
686340152726. 2
686340152727. 3
686340152728. 4

Question Number : 82 Question Id : 68634038669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SCR ®1 PIV. 650V T | Gleedl &1 5 1A SiToig Ii¢ JR&T 0N 2 B
1.230.4 dleC

232 dlee

3. 300 dlee

4.320dleC

Options :

686340152725. 1
686340152726. 2
686340152727. 3
686340152728. 4

[

Question Number : 83 Question Id : 68634038670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fully controlled line commutated converter functions as an inverter when firing
angle () 15 in the range.

1. 0°-90°

| )

. 90°-180°
3. 90°-180° (Only when there is a suitable de source in the load)

4. 0°-90% (Only when there 1s a suitable de source in the load)
Options :
686340152729. 1
686340152730. 2
686340152731. 3
686340152732. 4



Question Number : 83 Question Id : 68634038670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U gul (Al g [Gaguiadl gitade, U Uidaie & dke &1 &3dl ¢ od
BN S0 TR H gl gl

1. 0°-90°

2. 90°-180°

.90°-180° (Pad 9, Wid IUYF DC HA Al T )

Ladi

4, 0°-90° (Padl d9, 51§ 3Ugad DC HId @S H 8)
Options :
686340152729. 1
686340152730. 2
686340152731. 3
686340152732. 4

Question Number : 84 Question Id : 68634038671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Calculate the area required for Rotor to generate 4.5KW in a 5m/s. Assume a drive
train efficiency of 0.83. a generator efficiency of 0.75, and an altitude of 92m

] 2
1.265m"

b2

X
. 132.5m"
3.26.5m?

4.13.25m?
Options :
686340152733. 1
686340152734.2
686340152735. 3
686340152736. 4

Question Number : 84 Question Id : 68634038671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

U Jex (Gule) B, sm/s T 4.5KW Sd B3 & (01U [ g% o
S{Ta=geRdl 81T | I WicaTe ¢ G&fdl 0.75 3R g 92 Hiex 8

= 3
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"
3. 26.5m~

4.13.25m?



Options :

686340152733. 1
686340152734. 2
686340152735. 3
686340152736. 4

Question Number : 85 Question Id : 68634038672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Higher concentration ratio increases the absorber temperature.

B. The thermal efficiency of the power cycle decreases with an increase in
absorber temperature.

C. The thermal efficiency of the power cycle increases with an increase in
absorber temperature.

D. The higher the concentration. the lower is the temperature of absorber.

E. The higher the concentration ratio, the higher is the temperature of absorber.

1. A.C.E Only

| ]

. C.E Only
3.D. C.E Oaly

4. B.C Oaly
Options :
686340152737. 1
686340152738. 2
686340152739. 3
686340152740. 4

Question Number : 85 Question Id : 68634038672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 37 HigdT 30, Sa=INe &1 dT99H §¢Ial ©
B. Yifad I &1 ardid S&fdl. auiNe & dI9qH 94 9. Uedl o
C. IIfdd Ip B AU &idl, 39N & didH d¢- 9. dgal &

D. o=t Higdl GBIl €. A=Y B d9dH 3o 4 8idl ¢
E. foia1 Sigdl 3F[U1d 9= §1d1 & Sa-1 6] S{a¥y® &1 dlugF 3= aidl ¢

i f4U U [deedl § U 9ol 3R allof
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. PAUC.E

3.%4d D, C,E

4. ®4qAB, C

Options :

686340152737. 1
686340152738. 2
686340152739. 3
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686340152740. 4

Question Number : 86 Question Id : 68634038673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A solar photovoltaic system feeds power to a motor of 1hp at the shaft. The motor
has an efficiency of 85%. Each module has 40 multi crestline Silicone solar cells
arranged in 9%5 matrix? The cell 18 130 mm»130 mm and the cell efficiency 1s
13%. Calculate the number of photovoltaic modules required. assuming global

radiation incident to the panel as 1kW/m?
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¥
o

4,10
Options :
686340152741. 1
686340152742.2
686340152743. 3
686340152744. 4

Question Number : 86 Question Id : 68634038673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4,10
Options :
686340152741. 1
686340152742. 2
686340152743. 3
686340152744. 4

Question Number : 87 Question Id : 68634038674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Pyranometer measures global solar radiation received from entire hemisphere
on a horizontal surface.

B. Solarimeter can be interpreted to mean same as pyrheliometeric instrument.

C. Pyranometer produces a voltage as a function of the incident solar radiation.

D. Pyranometre uses photovoltaic detectors.

E. Pyranometre's spectral response 1s linear.

Choose the correct answer from the options given below:

1. AB, C Only

J

.B.D. E Only
3.A C.D Only

4. C.D.E Only
Options :
686340152745. 1
686340152746. 2
686340152747. 3
686340152748. 4

Question Number : 87 Question Id : 68634038674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, OIEHETER 39 YHSO IR faferull 1 O79dl 5, 9l 9s &ld 9as 1)
e el ¥ U SRl

B. HiavHeR @I, [aepd U sfomHie SusRu & ave 91 ¥ Haaia
CRIEIIE

C. UIgIHHIe, dicedl 3d Bl § o ATgfad 9R fafeon & $a- el o

D. TERAHIER YT iee 19 Sad & War $dl g |

E. Mg HHTeR &7 Waedt sififear 3a® gk 81

i< fSu U [d@edl § 9 I 303 gl -
1.HAAA. B, C

.%dd B, D, E

. $AAA.C.D

4,dd C, D, E

Options :

686340152745. 1
686340152746. 2
686340152747. 3
686340152748. 4
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Question Number : 88 Question Id : 68634038675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Water heating system L LSEd. i S e
conditions
B eakolemdtior II. |Freezing problem in collector

CONSEJUENCES

Heating svstem with
storage tank

D. Hor buge quality af ot IV, |Air heating system
water =

II1. [Forced circulation

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-III. D-I

| ]

CA-IL B-TIV, C-1, D-III

L% ]

CA-IIL B-IL C-IV. D-1

4, A-IV. B-II1. C-II. D-1
Options :
686340152749. 1
686340152750. 2
686340152751. 3
686340152752. 4

Question Number : 88 Question Id : 68634038675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T = 11 ¥ e Sifsg
T 1 el 11
A [ 9194 qome 1 [eEeieu UeR & TR GaR § S9an]
B. [@l¢ ulumsi &1 fvarg 1. [Garet 3§ 99+ & 99w
C. [aro vonel YeRu Zd & 9y | 1L [WonTed 9REgR
D [ gFl &1 9@ 91 1V [arg d19= womreil
Fefarad [geedi O 9 981 3o &1 98- HIf :

1. A-II. B-IV, C-III, D-I
2. AL B-IV, C-1. D-ITT
3. A-IIL B-1I1. C-IV. D-1I

4. A-IV. B-IIL. C-I1. D-1
Options :
686340152749. 1
686340152750. 2
686340152751. 3
686340152752. 4



Question Number : 89 Question Id : 68634038676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

LIST1 LISTIT
i [Vertical axis wind I Higher wind energy conserved
"~ Jturbines © |effictency
E. N anable gpeediving II. [Lower wind energy conservation
turbines i
. [Horizontal axis wind ; ; ;
C. . III. [High mechanical stress
turbines %
Fixed speed wind . High-energy conservation
D : IV :
turbines efficiency

Choose the correct answer from the options given below:

1. A-TIL B-IV. C-1. D-IT

| ]

CA-IL B-IV, C-I1 D-III
3. A-IL. B-IV. C-I1. D-III

4. A-TV. B-IT1. C-11. D-1
Options :
686340152753. 1
686340152754. 2
686340152755. 3
686340152756. 4

Question Number : 89 Question Id : 68634038676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 11 gl 11 9 e o
T 1 1
A [@aIR 3y yad evag| 1 [3= Udd Sl T Uiaeul gl
B. [93 910 UaH <&@z IL. [F9 U89 FHll Sl a&dl
C. |&ifas siailg uad ez | 111 (3= gifdd Uldad]
D. [RR I1d Ug- 23ars IV. [3=2 Foll ©qia0 el

afciRad [doedi © O gl 392 &1 9494 Dol -
1. A-IIL, B-IV, C-I, D-TI
2. A-IL B-IV. C-II, D-III
3. A-IL, B-IV, C-1, D-III
4, A-IV. B-TII. C-IL. D-I
Options :
686340152753. 1

686340152754. 2
686340152755. 3



686340152756. 4

Question Number : 90 Question Id : 68634038677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

LISTI LISTII
& s I needs low temperature and high
A [Bio-diese N
B. [Pyrolysais II. |an upgraded vegetables oil
C. Egﬁtactmn B0 III1. |direct combustion of biomass
D. [[ncimeration IV |biomass into more useful products.

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I, D-III

| )

AL B-IV, C-II1, D-1
3. A-L B-III. C-II D-IV

4. A-1. B-I11. C-IV, D-II
Options :
686340152757. 1
686340152758. 2
686340152759. 3
686340152760. 4

Question Number : 90 Question Id : 68634038677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 gl 1 ¥ e Sifee

T 1 T I
A [SEsa 1. |#9 a9 3R 3= o1s & 390 ddl gl &
B. [31Y-3{UHeA II. |3 S=ddrd g% da
C. |59 5009 &1 5aul | 111 [9d S0 &1 W& e
D. [y=idmm V. [5id goodE &1 HfH® Iugih Jaaigl 5§
fafiiad fawedl § 3 98l 3R &1 994 Dol

1. A-II. B-IV, C-1, D-III

2. A-IL B-TV, C-III. D-1

3. A-I. B-III. C-II D-IV

4, A-L. B-III. C-IV. D-II
Options :

686340152757. 1
686340152758. 2



686340152759. 3
686340152760. 4

Question Number : 91 Question Id : 68634038678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Factors affecting the performance of solar collector are:

A. Selective surfaces. spacing. dust on top cover.

B. Outlet fluid temperature. Spacing. incident solar flux.

C. Number of glass covers, incident solar flux

D. Spacing between glass covers, their numbers (glass cover)
E. Inlet fluid temperatures

1. A, C.D Ounly
2. A C.EOnly
3.B.C.E Ounly

4. A B.C,DOnly
Options :
686340152761. 1
686340152762. 2
686340152763. 3
686340152764. 4

Question Number : 91 Question Id : 68634038678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A, WUTHD Fag, eI SR Y 31aR07 IR §d
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1 (U U [d@ed] § U Ul 3R allvig ;
1.HIAA. C.D

. PAUTA.C.E

3. 9au B, C.E

4. BAU A, B,C.D

Options :

686340152761. 1
686340152762. 2
686340152763. 3
686340152764. 4
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Question Number : 92 Question Id : 68634038679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Kinetic energy of the wind is proportional to (velocity).

Statement IT: Kinetic energy of the wind is proportional to area of sweep of wind
turbine and also on Air density.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement IT are correct

| ]

. Both Statement I and Statement II are incorrect

LN

. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement I is correct
Options :
686340152765. 1
686340152766. 2
686340152767. 3
686340152768. 4

Question Number : 92 Question Id : 68634038679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152765. 1
686340152766. 2
686340152767.3
686340152768. 4
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Question Number : 93 Question Id : 68634038680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
International organization which coordinates and unify the petroleum policies is:

1. United Nations Economic Commission

[ ]

. United Nations Industrial Commission
3. 8AARC

4, OPEC
Options :
686340152769. 1
686340152770. 2
686340152771. 3
686340152772. 4

Question Number : 93 Question Id : 68634038680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WW@.W@?WWHH&H 3R UBHIDHRY Sl © 96

b [

L. q\"liiEG A g RANHD D HIEH

[

YAISCS AN g Ry HHIRH
3. SAARC

4. OPEC
Options :
686340152769. 1
686340152770. 2
686340152771. 3
686340152772. 4

Question Number : 94 Question Id : 68634038681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following area is preferred for solar plants?

1. Coastal areas

J

. Hot arid zones
3. Mountain tops

4. High rainfall zones
Options :
686340152773. 1
686340152774. 2
686340152775. 3



686340152776. 4

Question Number : 94 Question Id : 68634038681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

R wie & fou e feu 1o SH-8 831 (e @1 adiad g1 9l 82
1. e &=
2. T Y Hey
3. gadr =ict
4. 33 U1 & (IS

Options :

686340152773. 1
686340152774. 2
686340152775. 3
686340152776. 4

Question Number : 95 Question Id : 68634038682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Reason for acid rain 1s the pressure of the following gas in the atmosphere.

1.CH,

[

.H,

3.NH;

4. H,5
Options :
686340152777. 1
686340152778. 2
686340152779. 3
686340152780. 4

Question Number : 95 Question Id : 68634038682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrpfafaa § 3. agdsa & f5u 19 & g & SR sl avf gidt &

1.CH

!._J
&

4. H,5
Options :



686340152777. 1
686340152778. 2
686340152779. 3
686340152780. 4

Question Number : 96 Question Id : 68634038683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
At present, the percentage of electricity comes from fossil fuels in India is around

1. 57

[ E]

£
I 1T

4, 87
Options :
686340152781. 1
686340152782. 2
686340152783. 3
686340152784. 4

Question Number : 96 Question Id : 68634038683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Tt faran wfaRrd & ST, YRd | faggd. sitared, SeM. F ol 82

1.57

| B
[ ¥]
|

4. 87
Options :
686340152781. 1
686340152782. 2
686340152783. 3
686340152784. 4

Question Number : 97 Question Id : 68634038684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In terms of total primary energy consumption. At present India stands at what
position ?

1. First

k2

. Second
3. Thid

4. Fourth
Options :
686340152785. 1
686340152786. 2
686340152787. 3
686340152788. 4

Question Number : 97 Question Id : 68634038684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T WS Holl SUHNT & Mg § YRd BT qadH R 1 82
1. gl

2. G
3, AT
4. 90T

Options :

686340152785. 1
686340152786. 2
686340152787. 3
686340152788. 4

Question Number : 98 Question Id : 68634038685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One of the roles of ozone layer is to protect carth from

1. Sound Waves

[ ]

.UV Radiations
3. IR Radiations

4, Greenhouse effect
Options :
686340152789. 1
686340152790. 2
686340152791. 3
686340152792. 4



Question Number : 98 Question Id : 68634038685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS 9 D1 U YiHep1 ged| ol YRl g
1. @y o

.uv fafeof

3. IR fafeoi

| S

4. 1 B39 (U141 1) 4@
Options :
686340152789. 1
686340152790. 2
686340152791. 3
686340152792. 4

Question Number : 99 Question Id : 68634038686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The main constituents of Acid rain are

1. Nitric acid and acetic acid

)

. Nitric acid and sulfuric acid
3. Sulfuric acid and acetic acid

4, Acetic acid and hydrochloric acid
Options :
686340152793. 1
686340152794. 2
686340152795. 3
686340152796. 4

Question Number : 99 Question Id : 68634038686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fig asf & T HeH © -
1. e o 3R TRifew

1, ofife e s SR gregiadiRe o
Options :
686340152793. 1
686340152794. 2



686340152795. 3
686340152796. 4

Question Number : 100 Question Id : 68634038687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 LIST IT
A |[Kakrapar Atomic Power station 1. |Uttar pradesh
B [Narora Atomic Power Station II. [Karnataka
C. [Kaiga Nuclear Power Plant III. |[Tamilnadu
D [Eudankulam Nuclear Power Plant] IV |Gujrat

Choose the correct answer from the options given below:

1. A-L B-IL C-IIL. D-IV

-2

CA-IV. B-IL C-IIIL D-II
3. A-IV. B-I, C-II, D-III

4. A-11. B-1. C-II1. D-IV
Options :
686340152797. 1
686340152798. 2
686340152799. 3
686340152800. 4

Question Number : 100 Question Id : 68634038687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 1 gl 11 9 e o
Tt 1 g 11

@IHAUR A1THS 1 Biod 907 | 1. [T ueH
TR AN S iad 997 II. [Fle®
T AT Qidd 9 [T SIEEELS]
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aiciRad [doedi © O 9gl 392 &1 9494 Dol -

1. A-I. B-II, C-IIL. D-IV

ofa[w]s

2. A-IV. B-1. C-II1. D-11
3. A-IV. B-I. C-II. D-III

4. A-Il. B-1. C-III. D-IV
Options :
686340152797. 1
686340152798. 2
686340152799. 3



686340152800. 4



